Décompose comme dans 'exemple :
2345=2000+300+40+5
8879=8000+800+70+9
9599 =9 000 + 500 + 90 +9
1523 =1000+500+20+3
8731=8000+700+30+1
1592 =1 000 + 500 + 90 +2
7 869 =7 000+ 800+60+9

Décompose comme dans I'exemple :

5742 = (5x1000) +(7x 100) + (4 x 10) + 2

6 334
6 334 = (6 X 1000) + (3 x 100) + (3 X
10) + 4
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Recompose comme dans I'exemple :

2000 +400+30+8=2438

4 000 + 200 + 20 + 3 =4 223 7000 +400 + 80 + 6 =7 486
6 000 + 300 + 50 + 5=6 355 3000+900+20+1=3921
8 000 + 200 = 8 200 5000 + 500 + 7 =5 507

Recompose comme dans I'exemple :

(2 x 1000) + (4 x 100) + (3 x 10) + 8

(6 x 1 000) + (2 X 100) + (3 x 10) + 4 = 6 234
(3 x 1 000) + (7 x 100) + (4 x 10) + 6 = 3 746
(5 x 1 000) + (4 X 100) + (7 X 10) + 2 = 5 472
(4 x 1000) + (6 x 100) + (8 x 10) =4 680

(2 x 1 000) + (3 x 10) + 9 = 2 039




